
qm= ;+= of]hgfsf] gfd :yfg÷&]ufgf ljlgof]hg /sd ?=
s

1 s[lif sfo{qmd j*f g+ 1 lrt'{·wf/f 250000.00
v

1 lrnf·bL cf](f/] vf=kf= dd{t tyf Aoj:yfkg j*f g+= 1,lrt'{·wf/f 200000.00
2 /]ZdLyf]s tyf jef{ vf= kf= dd{t of]hgf j*f g+= 1,lrt'{·wf/f 100000.00
3 /fh'u}+/f vf=kf= df:^/ wf/f of]hgf j*f g+= 1,lrt'{·wf/f 100000.00
4 u|fDo df= lj= sDkfp)* lgdf{)f j*f g+= 1,lrt'{·wf/f 500000.00
5 :jf:Yo sfo{qmd j*f g+= 1,lrt'{·wf/f 100000.00

hDdf M” 1000000.00
u

1 lzv/ ;fd'bflos ejg dd{t tyf (nfg j*f g+= 1,lrt'{ªwf/f 500000.00
2 &"nfrf}/ s[lif ;+sng s]Gb| ejg lgdf{)f j*f g+= 1,lrt'{ªwf/f 100000.00
3 augf; ;fd'bflos ejg dd{t j*f g+= 1,lrt'{ªwf/f 200000.00
4 ufK^'· ;fd'bflos ejg Aoj:yfkg j*f g+= 1,lrt'{ªwf/f 100000.00

5
l;$fy{/fhdfu{sf] lrp/f kxf* b]lv lrt'·wf/f x'b} df*L l/ª/f]* 
r'xf/vf]nf df]= af= j*f g+= 1,lrt'{ªwf/f 500000.00

6 /fgf xf]^n b]lv lkKn] df]^/ af^f] j*f g+= 1,lrt'{ªwf/f 500000.00

7
/fd df= lj= b]lv sf]&]rf}/”&"nfrf}/”l/ª/f]*”uf]/;t”augf;] df]^/ 
af= j*f g+= 1,lrt'{ªwf/f 1000000.00
sf]&]rf}/ x'b} ;G(fk hfg] df]^/ af^f] j*f g+= 1,lrt'{ªwf/f 100000.00

8 #f]/jGbf s'dfn ^f]n df]^/ af^f] j*f g+= 1,lrt'{ªwf/f 100000.00
9 jfO{ *f“*f df]^/ af^f] j*f g+= 1,lrt'{ªwf/f 100000.00
10 lrnf·bL *f+*f^f]n df]^/ af^f] j*f g+= 1,lrt'{ªwf/f 100000.00
11 vf]/af/L lj=s= ^f]n df]^/ af^f] j*f g+= 1,lrt'{ªwf/f 100000.00
12 sRrL df]^/ af^f] ;/;kmfO{ j*f g+= 1,lrt'{ªwf/f 112500.00

hDdf M” 3512500.00
#

0.00
ª

8 sfof{no Aoj:yfkg j*f g+= 1lrt'{ªwf/f 100000.00
;jf/L ;fwg vl/b -df]^/ ;fOsn_ j*f g+= 1lrt'{ªwf/f 200000.00

1 dlxnf ” g]t[Tj ljsf; tflnd, s*fO{, j'l^s, s'zg j*f g+= 1lrt'{ªwf/f 75000.00

2
afnjflnsf ” Ifdtf ljsf; tflnd tyf ljBfnodf ;]g]^/L Kof* 
ljt/)f j*f g+= 1lrt'{ªwf/f 75000.00

3 h]i&gful/s ” ;Ddfg sfo{qmd j*f g+= 1lrt'{ªwf/f 37500.00

jftfj/)f tyf ljkb\ Aoj:yfkg If]q tk{m M

;+:yfut ljsf; tyf ;]jf k|jfx / ;'”zf;g If]q tk{m M

cGo M 

augf;sfnL ufp“kflnsf
1 g+= j*f sfof{no lrt'{·wf/f, kfNkf

cf= j= 074÷75 sf nflu j*f e]nfaf^ kfl/t eO{ ufp“ sfo{kflnsfdf k]z ePsf of]hgf÷sfo{qmdx?

cfly{s ljsf; If]q tk{m M

;fdflhs ljsf; If]q tk{m M

k"jf{wf/ ljsf; If]q tk{m M



4 hghftL ” g]t[Tj ljsf; tflnd j*f g+= 1lrt'{ªwf/f 37500.00
5 ckf· ” k'g{:yfkgf sfo{qmd j*f g+= 1lrt'{ªwf/f 37500.00
6 blnt ” pb\#f]if)f tflnd j*f g+= 1lrt'{ªwf/f 37500.00

hDdf M” 300000.00



s}lkmot




